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NUMBER SYSTEMS

Mathematical Reasoning

1.1F 2° ~3.322 =8 — 36, then the value of x is

A2
B.5
C.3

D.1

Answer: B



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rgAFD4UytYVQ

L = vvailln viaco S0Iution

2IfN = \/g+i/i;+;/5_2 —\/3—2\/§then\/ﬁequals____

Answer: A

° Watch Video Solution

3. Express the mixed recurring decmal 1. 27 in the formZ
q

11
14
11
14
"~ 25


https://dl.doubtnut.com/l/_rgAFD4UytYVQ
https://dl.doubtnut.com/l/_wPnzdzQ1y1ZG
https://dl.doubtnut.com/l/_vXAloqL1XJiU

Answer: B

° Watch Video Solution

_ 1
4.z =5—26finda’ + —
X

A.58
B.O
C.98

D.12

Answer: C

° Watch Video Solution

5. Simplify: T3 2v5 32

VIO+v3  VB+5 I+ 32


https://dl.doubtnut.com/l/_vXAloqL1XJiU
https://dl.doubtnut.com/l/_rQovI7TQuIdd
https://dl.doubtnut.com/l/_EnU9Jwg9XHma

Answer: A

° Watch Video Solution

6. The rationalising factor of v/ a?b®c? is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EnU9Jwg9XHma
https://dl.doubtnut.com/l/_DoWkUS1P2CS8

7. Rational number lies between consecutive integers

A. —2and -1
B.—7and -8
C.—6and -7
D.—-9and-10
Answer: D

o Watch Video Solution

3 5
8. An irrational number between 3 and 3 is


https://dl.doubtnut.com/l/_DoWkUS1P2CS8
https://dl.doubtnut.com/l/_NP0XukQHC4B7
https://dl.doubtnut.com/l/_6VcrsOg0L9ju

D. None of these

Answer: C

° Watch Video Solution

9. Arrange in descending order of magnitude /2, /3, V/4.
A4, /3,32
B.V/4, /2, V/3
C.¥/2, /3, V/4
D. \6/§a \Q/Za \3/§

Answer: A

o Watch Video Solution

10. The greater between /17 — /12 and /11 — /6 is


https://dl.doubtnut.com/l/_6VcrsOg0L9ju
https://dl.doubtnut.com/l/_GKAw1Ux5dZp6
https://dl.doubtnut.com/l/_4TL55orLXCVz

A V1T — /12
B.v/11 — /6
C. Both are equal

D. Can't be compared

Answer: B

o Watch Video Solution

1. The value of x if 52* =1 = 251 1 100 s

A.8

B.5

C.2

D.O

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4TL55orLXCVz
https://dl.doubtnut.com/l/_65ODv0GxirM2

_ 1 1
12.If z = 2 — 4/3, then the values of z? + — and z? — — respectively
x x

are

A.14,8,/3
B.—14, — 8,/3
C.14, — 8/3

D.—14,8,/3

Answer: C

o Watch Video Solution

13. Which of the following statements is INCORRECT?

A. Every integer is a rational number
B. Every natural number is an integer.

C. Every natural number is a real number.


https://dl.doubtnut.com/l/_65ODv0GxirM2
https://dl.doubtnut.com/l/_fYdmWNJrwIl9
https://dl.doubtnut.com/l/_jxMJvBo2Qzyo

D. Every real number is a rational number.

Answer: D

° Watch Video Solution

3+2V5
325

14.If = (p + ¢v/5), then find the value of 11(p + g).

A 31

B. —41

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jxMJvBo2Qzyo
https://dl.doubtnut.com/l/_twxm8tlMAxl1

15. The number x = 1.24242424...can be expressed in the from x = £,

q

where p and q are positive integer having no common factors. Then the
value of p+q is:

RS X = 1.24242424.. P & = % w0 § 1fUeh a1 s A g, J&t p 3R q

&[T YUITeh & ST IHIIA® el &, dl p+q T HIH &1 gPIT?

A.72
B.74
C. 4

D. 53

Answer: B

o Watch Video Solution

16. If x and y are positive real numbers then which the following is

CORRECT?


https://dl.doubtnut.com/l/_zD1JJdC8QZbY
https://dl.doubtnut.com/l/_PSjhKJAUgi1I

Arz>y= —x> —vy
Br>y= —zz< —y

1
C.m>y:;>

—t
|

~1
Dz >y= — < —
T ('

Answer: B

° Watch Video Solution

17.1f z = 1 — /2, then find the value of <

A2
B.3
C.4

D.5

Answer: C

1
Tr — —
x

)

| ° Watch Video Solution



https://dl.doubtnut.com/l/_PSjhKJAUgi1I
https://dl.doubtnut.com/l/_InraTzW0WgM4

Achievers Section Hots

1. The value of
1 1 1 1 1 1

+ + + + + :

1+v2 V24V3 V3+V4 VA+VE O VBEHVE VBV

IS

A.O

B.1

C.2

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_InraTzW0WgM4
https://dl.doubtnut.com/l/_Ffp7SdAEGT6A

2. Read the statements carefully,
Statement 1: The product of a rational and an irrational number is an
irrational number.
Statement 2: Reciprocal of every rational number is a rational number.
Which of the following options hold?

A. Both Statement -1 and Statement -2 are true.

B. Statement -1 is true but Statement -2 is false.

C. Statement -1 is false but Statement -2 is true.

D. Both Statement -1 and Statement -2 are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oWtjNqLBo0Le

3. Match the following :

Column-l Column-li
3 4 _
@ I 8 6-x i 3
then x i1s
2!-1_421’1'1
(b) i =8 iy s
then x is .
(c) a4 —4'=24, (iii) -2

then (2x)" is .
(d) If4**' =256, then xis (iv) 1

Aa—1i,b—it,c— tit,d — v
B.a — i, b — iv,c — i,d — i1
Ca—i,b—iv,c— ii,d — iii

D.a — it,b — iv,c — it,d — @

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fkBMCvwspfS1




